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Concursul Interdisciplinar ,,Vranceanu-Procopiu”

Etapa judeteana, judetul Brasov

BAREM

Problema 1

Considerim a = r(cosa +isina), b=r(cosF+ising), e=r{cosy+isiny)

424 £ = (cos(a—f)+cos(F—7) +cos(y—a)) +i(sin(a— ) +sin(F—7) +sin(y—a))
e (Z2p)
8+ 2+ e R = sinfa—f) +sin(f—7) +sin(y—a)=0 ....... e (2p)
sin(ee — 4) +sin(f — 4) + sin(y — a) = —4sin % sin '?%" sin 152 L (2p)
sin%=ﬂ —_— #:kn‘. kel &= a=842%kr = a=bh &= a—-b=1
............................................................................... (2p)
842l ceR &= (a—-b)b—c)e—a)=0 ...ocooiiiiiiiiiiii (1p)
Se acordi 1p oficiu.

Problema 2

Notim t =log, y = log, r = !1 ................................................ (1p)

Atuncilog, y+log,r>2 e t+122 &= EL >0 <= t>0.........(3p)
t=0 = log,y=>0 <= z.y>1 sau O<r.y<l.................. ... (3p)
y+l>or+4+y = (r=Dy—=1)>0 << r.y>1 san OD<z.y<1 ....(2p)

Se acordid 1p oficiu.
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